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MATHEMATICS
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Total Marks : 33
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Type of Questions M.M., Min.

Single choice Objective (no negative marking) Q.1,2,4 (3 marks, 3 min.) [9, 9]
Subjective Questions (no negative marking) Q.3,5,6,7 (4 marks, 5 min.) [16, 20]
Match the Following    (no negative marking) Q.8 (8 marks, 8 min.) [8, 8]
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2. If f(x) = ((sgn x)sgn x)n ; n is an odd integer. Then
(A) f(x) is an odd function (B) f(x) is an even function
(C) f(x) = 0 (D) none of these
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4. In which of the following functions, range is  singleton set.

(A) f(x) = [x] + [–x] (B) f(x) = {x} + {– x} (C) f(x) = sgn(x) (D) f(x) =  ]x[x 

where [x], {x} and sgn(x) are greatest integer function, fractional part function and signum function respec-
tively.
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6. Solve the inequality :   8xlog3xlog2 3
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( where [ . ] denotes greatest integer function)
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7. a = 1, 2, 3.

8. (A)  (s), (B) (r), (C) (p), (D)  (q)


